[bookmark: _GoBack]A woman with a twin gestation has a selective reduction (induced abortion) of twin B at 22 weeks. She goes on to have a term vaginal delivery of twin A at 2500 grams with the demise of twin B following the delivery of twin A. How would you code the fields below for Twin A?

Infant

If Multiple Births:						Birth Weight:
Number of Live Births: ____          Number of Fetal Deaths ______		___ Grams	        ___lbs.  ____   oz.
_________________________________________________________________________________________________

What would you fill out for Twin B?
